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Question Number : 1 Question Id : 70819116774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819155471, 1-33%

70819155472, 1-03%

e
70819155473, 1-13%

.
70819155474, 1-30%

Question Number : 1 Question Id : 70819116774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

°
gcollegedunlas
India’s largest Student Review Platform

~



L
20T AW, Greoin SZ3F ToO T=2¢r\/% N3, 1 mm IDF QZPRNITET 0esT

AeorRod L &, 993 SRed 8¢ 1.0 m ) 0.01s IFTopda L0y NRoIRIH0T
20T CORRCOTT OB, 1955 Q0T VICRURNG. gomd, ToBHLBOINTNR WIDH
Fes@moth Do -

Options :

70819155471, 1-33%

70819155472, 1-03%

o
70819155473. 1.13%

70819155474, 1-30%

Question Number : 2 Question Id : 70819116775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle is projected with velocity v, along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= —ax?. The
distance at which the particle stops :

Options :
1

205 )2
3o

Il ¢
(31![2] ]2
2a g i3:
70819155476. collegeduma

~

70819155475.




33%- 3
2o
70819155477.

. 1

Zz:ln 3

3a
70819155478.

Question Number : 2 Question Id : 70819116775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819155475.

1
3v2 2
2a
70819155476.

1
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Options :

k| =

( 2a
70819155477.
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70819155478.

Question Number : 3 Question Id : 70819116776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A circular hole of radius (—J is cut out of a circular disc of radius “a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘0 will be :

Y-axis

4

R -
X-axis

Options :
1
—ad
70819155479, ©
5
—a

70819155480, ©

2

—a

70819155481,
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10
—a

70819155482, 11

Question Number : 3 Question Id : 70819116776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
—a
70819155479, ©

5
—a
70819155480, ©

2

—d

70819155481,
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10
—a

70819155482, 11

Question Number : 4 Question Id : 70819116777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM _
[Use g = R2 = 9.8 ms~ 2 and radius of earth, R = 6400 km.]

Options :

70819155483. TN

70819155484. el

70819155485, 883 N

70819155486. 983 N

Question Number : 4 Question Id : 70819116777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I8 PIFTY LY SFRODY SRNT 2,0 FORT 30F 49 N SNFIRTS ST, APTT,
WYL FRB wlc e ohoZHOT IRT JNRRTT WILT 3RTH)
GM o |
[g = a2 = 98 ms ™2 I PrWod &% R = 6400 km]
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70819155483. AN

70819155484. i

70819155485, 883 N

70819155486. 983 N

Question Number : 5 Question Id : 70819116778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P,, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2py—13y
70819155487,
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RT

i =
70819155488, 2 D)

70819155489, RTIn 2

70819155490. 0

Question Number : 5 Question Id : 70819116778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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RT
2(y—1)
70819155488.

70819155489, RTIn 2

70819155490. 0

Question Number : 6 Question Id : 70819116779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

On the basis of kinetic theory of gases, the gas exerls pressure because its molecules :
Options :

70819155491 contmunuslj,-' lose their energy 11l it reaches wall.

7081915549, continuously stick to the walls of container.

are attracted by the walls of container.
70819155493. .

70819155494 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819155493, = W

HoMEIT Needn RN Rolen WECIRE LNELZIT.
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Question Number : 7 Question Id : 70819116780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :
1 k
3 e
70819155495, =™ | Mg sina
1 2k
27\ Mg sina
70819155496.
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5
70819155497, =™ VM

1 k

2 V2M
70819155498, -7 ' 2M

Question Number : 7 Question Id : 70819116780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

BRLTNE BITYTOTOS, o M TEOD FORT, FTH TETLE WENT TWH 2ow

Hobwed LT Ao ded QORRAE. DLENY SogBDONY, NG wobanen ZedAnd.
TS DWID WO 008 k STT, YOLRMT SOBRVTT ST 30D, Lert 3oLT.

Options :

1 k

e A A e
70819155495, =™ ¥ Mg sina

1 2k
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1 2k

=

70819155497, =™ VM
1 [k
Y 3

70819155498. 2w\ 2M

Question Number : 8 Question Id : 70819116781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819155499, circular

eIIiptical
70819155500.

parabolic
70819155501.

straight line
70819155502.

Question Number : 8 Question Id : 70819116781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819155500.

70819155501.

70819155502, ~OFOLD

Question Number : 9 Question Id : 70819116782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following equations represents a travelling wave ?
Options :

— X
70819155503,/ Aetcos(w! —0)

-

o e ;
70819155504, Y= A€~ (v1+0)

= 7 d )
70819155505, ¥ = Asin(15x —2i)

70819155506,/ AASinT coswl

Question Number : 9 Question Id : 70819116782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ToBRen=E E;U'cri"i}ri.ﬁL 3 YN Tewesdn) J3ROIIT.
Options :
y=Ae*cos(wf — 0)

70819155503
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' 2
= -1
70819155504, Y= ¢~ (v 10)

70819155505, ¥ = Asin(15x —21)

70819155506, Asinr coswm!

Question Number : 10 Question Id : 70819116783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
4 P
2meg :rrrf3
70819155507.

: i
_2 P
TE md3

1

egmd” |2
2:}2

70819155508.

70819155509. (
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1

(szn md” ]E
2
q
70819155510.

Question Number : 10 Question Id : 70819116783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
5 =
==
2 3
ey md
70819155507.
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Question Number : 11 Question Id : 70819116784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S" is closed will be :

i 4
# R
+ T RZ :
E=9V|™ i
R
R
Options :
225 A

70819155511.

70819155512, -0 A

70819155513, 7=

70819155514, 9 A

Question Number : 11 Question Id : 70819116784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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23309 3pc0aTiT0d WoRYFY R=200 JreqT T, NFOE30B dreegsndd, L=2.0mH
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R0 'S o), [NYE IBe AW T T[T
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Options :
70819155511. 225 A

70819155512, >-0 A

70819155513. 3.37 A

70819155514, 9 A

Question Number : 12 Question Id : 70819116785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft fermmagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819155515 increase in size but no change in orientation.

70819155516, decrease in size and changes orientation. gﬁo!lgetieguﬂlﬁam

~



70819155517, may increase or decrease in size and change its orientation.

70819155518, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2,000 W FoeeFoodeon TRBW, BF0T BT BORBNTOIRTT, TOF &W,A0MW :
Options :

MmEnd D0ToMEE Sod HEad DTSR,
70819155515, — © . 3 = =

mZEY RYECIRMIT I, OFTR, WTORWIT.
70819155516. = T = = 2 -

MZHg 008 exm |vioipnum D W0 IR, WTORWIT.
70819155517. = = -l =

L0®,E008 638 T OHLLRDY.
70819155518. . =@ =3 =

Question Number : 13 Question Id : 70819116786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819155519, @ (V) (B)-(v), (€)-(D), (d)-(iv)

70819155520. (a)-(vi), (b)~(iv), (c)-(1), (d)-(v)
70819155521, (@)-(i1), (B)-(iv), (c)-(1), (d)-(iii)

70819155522, (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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;e -1 DD T -11 ﬁ@m% FBRODA.
@ - 1 @ - 1

(a) WWBeezvons s8 830 () BRIONI'S LTSV FoWE

(b) TWSe3 ITOMT wRE ST (i) i

(c) ™ 0Ly 830 (i) ©S0ZB0F FVWT 2TWFT WD

(d) X-8Teone =50 (iv) WO I, LEONY FoTS
(v) Sexncd

(vi) RC moR©
E.EE?”&& &c&:&n@d@t ﬁ&odm&d.ﬁ% =253,
Options :
70819155519, @F (Vi) (B)-(v), ()-(1), (d)-(iv)

70819155520, @)(vi), (b)-(iv), (c)-(i), (d)-(v)
20819155521 @) (i), (D)-(iv), (c)-(1), (d)-(iii)

70819155522. (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819116787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young's double slit experiment is changed from red to violet :
Options :

70819155523, e fringes will become brighter.

70819155524 consecutive fringe lines will come closer.
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70819155525. the intensity of minima will increase.

70819155526, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819116787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
oPOTFE Qaesdsod TodeentY LUTAIRENAT BT SITRD, SoTh WRHOT Feo¥ wg
WIOATS :
Options :
JOWND TFISRTTH3IE.

70819155523
by ph e, ) 3, Y .-'b._‘__,.
70819155524, SRTE0N $OTF NON H3THRMISS
FRTEIoD ez DOFOIIHBS.
70819155525, = = =
P, TP ot FTrbId
70819155526, 0 — b

Question Number : 15 Question Id : 70819116788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
photon will be :

Options :

1
70819155527, 107 nm

2
70819155528, 10 = nm |
collegedunias
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3
70819155529, 1077 nm

4
70819155530, 10" nm

Question Number : 15 Question Id : 70819116788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,000 X-3Teel B930d0 1.24 0IohT Fpewcdd FabF AR LR3T.
&8 IR STOMUOITH) :

Options :

70819155527.

70819155528.

70819155529.

70819155530.

10-! nm

02 nm

=

0-3 nm

=

04 nm

=

LRERT oLDERED

Question Number : 16 Question Id : 70819116789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de Broglic- wavc-lc-ngﬂ'n of a proton and u-particlc- are c-qual. The ratio of their velocities

is :
Options :

70819155531.

70819155532.

4:1

" -
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70819155533, 413

70819155534, 14

Question Number : 16 Question Id : 70819116789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DRET WP, aBRT B Wit ICOMOITN AWTWBT, YPYNY JeNnY SWT2Y) -
Options :
70819155531, +11

70819155532.

70819155533.

70819155534, 14

Question Number : 17 Question Id : 70819116790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :
70819155535, N=2 to n=1

70819155536, 1= to n=2

n=4 ton=3 13:
70819155537. gcpllegedunlaa
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70819155538, N2 o n=4

Question Number : 17 Question Id : 70819116790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

BReTT TOTREN [TRWO TFT FRLITHE cins XoFEhedy & o nog, :

Options :

—2 hotd n=1
70819155535, T T AL
70819155536, N~ 0 ~C@ n=2

70819155537, =4 20T n=3

70819155538, 0 SO@ n=d

Question Number : 18 Question Id : 70819116791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p — n junction having p and n both :
Options :
70819155539 lightly doped and have narrow depletion layer.

70819155540 Lghtly doped and have wide depletion layer.

heavily doped and have narrow depletion layer.
70819155541. i g

70819155542, heavily doped and have wide depletion layer. gcollegedunias
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Question Number : 18 Question Id : 70819116791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

p—n ROTTFIY BIT® YEFHEOT" LVOERTIN p DI 1 0B :
Options :

TR ARLOIT DIREUIMNEE D2 000 BacET ICTIT., BeoHTHSEH.
70819155539. - pr = ] e

3R BRI SRECMZE 3 Ynommd LSS JCoI, BrobthIEs.
70819155540. = = i e b

T, BRLUOT IPBTNDHE ) 30000 BLedms JIT0SDH, BROODESE.
70819155541, & = = ] o

%), WL TRECRNTIE D, enomet dyems’ TTTDTIR, BROTLTT
70819155542, © = = ; a =

Question Number : 19 Question Id : 70819116792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement 1 : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement 11 :  In the study of transistor, the amplification factor (§ indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819155543 Both Statement I and Statement 11 are true

70819155544, Both Statement I and Statement 11 are false
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70819155545, Statement 1 is true but Statement 11 is false

70819155546, Statement 1 is false but Statement 1l is true

Question Number : 19 Question Id : 70819116792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

83 39N QOB Teednvm, VBN

Zeed 1: PN 203 a‘c&mm‘ﬁ@t ERRATTIVON TDORF DT LI WY QTS
DFOCS0D asoi@m*‘r‘:@i Eﬁ%“a“ﬁ 2,000 Locﬁﬁ ai,af*odi Aedm a FROF
O Hex DO TIFE 23T

eed 11: RRITTR, LFPODT ai;um*.ar*ri TWPFE3 03 B AnFE ToTID, Al
..un‘u"‘ad E'L"‘;JSE.S'L BRI,

BT TewdNY, dﬂoaoi@t&;ﬁ,@o& 3UT DeRWE SoRNYY T FOOIRT YLITHW, SOA.

Options :

0819155543, Eewd 1 20D Sewd 1l 20BR XO.

Zeed 1 =3 2eed 11 HTRR 3.
70819155544 o =

£
o3
i
2
e
a
13
Cls
£
%
i
L
&

70819155545,

70819155546, o

Question Number : 20 Question Id : 70819116793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatarv - Na

Correct Marks : 4 Wrong Marks : 1
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>o0—o0 C

The logic circuit shown above is equivalent to :

Options :

S
C
70819155547, B
po ] P
C
70819155548, °
ArPe TS oo
70819155549, B ° |
T e
C
B

Question Number : 20 Question Id : 70819116793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A
~>0——0 C
)

aued 2RedAtds T0EFT ::.:r.:\m"@'% :d:ma‘imcjc% :

Options :
gcollegedunias
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|
I

70819155547. B )

Ao—{>0—

B o———

70819155548.

Ao— >0

Boe

T

70819155549.

= >
]

70819155550.

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 70819116794 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I

Physics Section B

708191659
2

Online
Mandatory
10

5

20

Yes

1
708191939
Yes
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Two solids A and B of mass 1 kg and 2 kg respective-l}-' are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be
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A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cm.
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A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is x10~ 1 kg m?.
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The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms~!. The root mean square speed of molecules of the gas at 127°C and

= !
2 a'r_mospherr_- pressure is — ms I The value of x will be

3
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Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]
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Correct Marks : 4 Wrong Marks : 0
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A point charge of +12 uC is at a distance 6 cm vertically above the centre of a square of side

12 em as shown in fI%LII‘E The magmtude of the electric [lux thmugh the square will be
x 103 Nm*/C,

g

%
)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text.Areas : PlainText g colle ge dunia:
Possible Answers : India's largest Student Review Platform

~



5t05.001

Question Number : 26 Question Id : 70819116799 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BIBY 3Rc0ATVTOZ 12 cm PRIDIWST SINFF ©OWTIN YTT §0TROT 6 cm TRTTY
F12 pnC s55e38 o Do e:ﬁ@-ﬁ'm% QOICINT. J[NFT DROILLS AW FF
TOTRT) x 10° Nm?/C.

|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116800 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5 x 107 S/m is subjected to an electric
field of 10 mV/ m. The expected value of current in the wire will be x> mA. The value of x
18
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A series LCR circuit is designed to resonate at an angular frequency {uﬂ=105 rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (.
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An electmmagnefic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 frnm vacuum. The wavelength of this wave in that medium will be
x10~2 cm.
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A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

[Gain in dB=10 Iogm[— 1
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According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = ZT
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819155561, (A) () and (D) only

70819155562, (/) and (D) only

70819155563, (©) only

70819155564, () only
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Options :

70819155561. G &E:L; (D) 5=

70819155562, () ==, (D) 528

70819155563. 193

(A) SR,

70819155564.

Question Number : 32 Question Id : 70819116805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I-1-1bond angles respecfjvel}r in I; ion are :

Options :

70819155565, Linear; 180°
gcollegedunias
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70819155566, Distorted trigonal planar; 135" and 90°

70819155567, 1-shaped; 180" and 90°

Trigonal planar; 120°
70819155568.

Question Number : 32 Question Id : 70819116805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I; ©0dRAS RORT $88 DR I-1-1007 30T BOKRT TN
Options :
70819155565, ©¢=0¢0w: 180"

70819155566. g3 (L0R&T) SdRecod AMIY; 135° I 90

70819155567, 1-=8900; 180° &2 907

PO LT R
70819155568, ZoRRE0R AIBL; 120

Question Number : 33 Question Id : 70819116806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO
70819155569, -3

Mg (HCO gcolle edunia;
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70819155571. FeCl,

70819155572, 1904

Question Number : 33 Question Id : 70819116806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

0% TIWNEMTY GUTIRNTT ©3,08 ART[T BT OB :

Options :

70819155569, VAHCOs

Mg (HCO
70819155570. B 3)2

FeCl,
70819155571, -

FeSO,
70819155572,

Question Number : 34 Question Id : 70819116807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
IS :

Options :

70819155573, L1 > LiF ; MgO > NaCl

LiF > LiCl ; MgO > NaCl ,
70819155574, & gcollegedunlas
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70819155575, HCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819155576.

Question Number : 34 Question Id : 70819116807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IENTRINYY 2TBR BRAN T00IRT T3t VOTAT FTEahha RO0IRT New) :
Options :
70819155573 LiCl > LiF ; MgO > NaCl

70819155574, LiF > LiCl; MgO > NaCl

70819155576, HiF > LiCl; NaCl> MgO

Question Number : 35 Question Id : 70819116808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11

(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (iii) Kaolinite

(d) Zinc (iv) Malachite
Choose the correct answer from the options given below : gcollegedumas
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Options :

70819155577, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
70819155578, @-(1), (b)-(iii), (c)-(ii), (d)-(i)
70819155579, (@-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819155580, \@)-(1i), (b)-(i), (c)~(iv), (d)-(ii)

Question Number : 35 Question Id : 70819116808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

w&:_%_,-lﬁa; m_.i, -"% BreBad

ﬁ&.}_ -1 ﬁé.._%_ -11

T3 (BReT) (2QTH)
(a) ©uRLIBO () A=
(b) e (i) BOIT*
() =l (i) DD OFE
@d) =D (20F) (iv) Hess
39NT SoHNYY TOWRT YwITRW, SOAD.

Options :

70819155577, (@-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
70819155578, (@)-(1v), (b)-(ii), (c)-(i), (d)-(i)
70819155579, (@-(11), (b)-(iv), (c)-(1), (d)-(iii)
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70819155580, (@)-(ii), (b)-(i), (c)-(iv), (d)-(ii)

Question Number : 36 Question Id : 70819116809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Keason K.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

70819155581, Both A and R are true and R is the correct explanation of A
70819155582, Both A and R are true but R is NOT the correct explanation of A

70819155583, ‘v 18 true but R is false

70819155584, A\ 1s false but R is true

Question Number : 36 Question Id : 70819116809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
ATD ROTBR 2 2. Ry AN I000RT 50mNG.

70819155581.
ATND ROTBRL AT % 9T0 RP AR XO0IRT FTTR@N.

70819155582. = :

70819155583, TEEmRNLY SR SR,

20819155584, A 3T2NT STO R =T,

Question Number : 37 Question Id : 70819116810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Maltch List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819155585, (@), (b)-(id), (c)-(iii), (d)-(i)

70819155586, (@)-(i), (b)-(iv), (c)-(iii), (d)-(i)
20819155587 @), B)-(iv), (©)-(i), (d)-(iii)

70819155588, (@)-(i), (b)-(1), (c)-(iv), (d)-(ii1) gcollegeduma
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Question Number : 37 Question Id : 70819116810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T - [Teodn T, - 11 &), BrodA WIWD.

=Y - 1 e - 11
(Tocing/ o) (2o wr;:‘cd 2TOMCST)
(a) LiCl (i) 455.5 nm
(b) NaCl (if) 670.8 nm
() RbCl (iii) 780.0 nm
(dy CsCl (iv) 589.2 nm

39N BT SoPNYY FOSRT LITHT, SORD.
Options :
70819155585, (@)-(1v), (b)-(ii), (c)-(iii), (d)-(i)

70819155586, (@)-(i), (b)-(iv), (c)-(ii), (d)-(i)
70819155587, @), (B)-(v), (c)-(), (d)-(iii)

20819155588, @) ()-(i), (c)(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among, the following is :
Options :
70819155589, ¥ 004 15 a reducing agent

°
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70819155590. RuD‘4 is an oxidizing agent

70819155591 Cr,05 is an amphoteric oxide

70819155592 Red colour of ruby is due to the presence of Co®*

Question Number : 38 Question Id : 70819116811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FONTINTY ITAHT Seeod -

Options :

VOS50, 2.0t &R 3500 0d00NG.

70819155589.

o B e et i - _;_.‘ -
70819155500, NUOy WO CUFTETTOCWRNT.

Cr,0, 2,000 egodans €% & Sha.
70819155591, — < - ~g

70819155592 Co’t 8 mAg) Fooedsd doan soUemoNG.

Question Number : 39 Question Id : 70819116812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the fﬂllf}wf_ng elements with respect to their densit}-' ?

Options :

70819155593, <f <Fe <Co<Cu<Zn

70819155594, Zn < Cr < Fe < Co < Cu gcollegeduma
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70819155595, £ <Cu<Co <Fe <Cr

70819155596, Cr < Zn < Co <Cu < Fe

Question Number : 39 Question Id : 70819116812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FPNTHNTY TooTER WFMMEmNE Fodne ZooiRa Fmhaledd ?
Options :

70819155593, Cf < Fe<Co<Cu<Zn

70819155594, Zn < Cr < Fe < Co < Cu

70819155595, Zn <Cu<Co < Fe <Cr

< < = < H
70819155596, —F < £n <Co <Cu < Fe

Question Number : 40 Question Id : 70819116813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, |*~, [Co(C204)3 1"

and ['~.1n[_.‘!::'_ respectively are :
Options :
70819155597, +90, 0 and 1.73 BM

5.92, 4.90 and 0 BM :
70819155598 gcollegedumas
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70819155599, 2-82, 0 and 0 BM

70819155600, 90, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCly 2™, [Co(Cy04); P~ & MnO} ni¢ S3anaEons 208 Ednth (Vogme Sngd

®IPL,) PN :
Options :
70819155597, 490, 0 33 1.73 BM

70819155508, 2ov o mEER ) BM

70819155599, >22 =3 0 BM

70819155600, 490, 0 502, 2.83 BM

Question Number : 41 Question Id : 70819116814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement 11 : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options : g collegedunia
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70819155601 Both Statement | and Statement Il are true

70819155602. Both Statement I and Statement 11 are false

70819155603. Statement 1 is true but Statement 1l is false

70819155604. Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819116814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
39N OB Tewdnva, Sedd :

Deed-1 BTN WIDTL TR0VTOT 0T STHWTBR Be@d (BeTTRODT SR TZ

HBe@d (BOD)) ob TRBE© QODNT0TFH WTT0,TNT.
Teod-11 08 SRIFT BeRIOD (BOD) ©TF P9 6.5 ppm SNT.
BT TePINYR, N, TOOIRT NITIM, F9NT soNTY SdD.
Options :

70819155601, =

70819155602, ° e, e

Dewi- 1700300 =nd Seed-11STmA0.
70819155603. o

— g e, o] *—:‘IE By -l i — -n.
20819155604, 2t T~ 1STRNG STT Tees-11 8003B

Question Number : 42 Question Id : 70819116815 Question Type : MCQ Option Shuffling : Yes Is Question Man
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Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

Options :
@/NHE
70819155605.
IEZHEI“«]H2
70819155606. @/
@/[\'1 I—CHj3

e

Question Number : 42 Question Id : 70819116815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

$9NT cda Toodss %@dmf?}oa:w @), NaOH IQod p-mofRorseodn =8
WEYE TONM, QBRI ?

70819155607.

70819155608.

Options :

°
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NH

70819155605.

CHEI\.]H2

%

70819155606.

70819155607.

;; b
.
o

70819155608.

Question Number : 43 Question Id : 70819116816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following compounds is non-aromatic ?

Options :

]

70819155609.  ©

®

70819155610. ¥

°
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70819155611. :
70819155612. I I I

Question Number : 43 Question Id : 70819116816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TRWNTYY CIRPYT &0rcDDLIT ﬁomﬁmﬁi‘@&g 2
Options :

70819155609. O

&

70819155610, @

70819155611.

70819155612. I l l

Question Number : 44 Question Id : 70819116817 Question Type : MCQ Option Shuffling : Yes Is Question Man
Correct Marks : 4 Wrong Marks : 1 g collegeduniag

~



Which one of the [ oIIDw'mg carhnn}-'l cnmpnumis cannol be prepared b1, addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :

O
|

70819155613, CHa— €~ H
i
|
— C—CH-CH
70819155614, <113~ € 2113

i

W
CH;—CH,—C—H

70819155615.

70819155616.

Question Number : 44 Question Id : 70819116817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

©d, ;71 HgSO,®3) H,50,8 mAgEQ 2edd, Feda 39NT oins forleer &, Fooingma,

clevwolslrfantatavily)

Options :
W
CH;—C—H
70819155613.
O

Il
CHz—C—CHyCH; g collegedunia:
708 l 9 l 5 5 6 l 4 India’s largest Student Review Platform
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70819155615

70819155616

i

W
CHs =CHy =~ C—H

Question Number : 45 Question Id : 70819116818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl
@ @/ NOZ 02:\] - i ;NDE
NGO, NO,

v

(1)
Options :

70819155617

70819155618.

70819155619.

70819155620.

NO,

(i) (iii)
(i) < (i) < (i) < ()
(iv) < (i) < (i) < (i)
(i) < (i) < (i) < iv)

(iv) < (i) < (i) < (iii)

(iv)

°
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Question Number : 45 Question Id : 70819116818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TRI0IRT0Y TITTTe OO TEEFAWEY OWWET IENT TOOWINY TOIRD balel

IDF) :

Cl Cl Cl Cl
NO, NO, NO,

(i) (i) (i) (iv)

Options :

70819155617, V) < (i) < (i) < ()

70819155618, (V) < (1) < (iii) < (ii)
70819155619, 1 < (i) < (iii) < (iv)

70819155620, (V) < (1) < (if) < (ii)

NO,

Question Number : 46 Question Id : 70819116819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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O

Which of the following reagent is suitable for the preparation of the product in the above
reaction ?

Options :

NaBH,
70819155621.

=N

70819155622, V2 ~NH»/CH50Na
70819155623, /T

Red P +Cl,
70819155624

Question Number : 46 Question Id : 70819116819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

20T 00T FONODY FIENT Gl FOIRTIOOW ARFWNT ?

Options : gcollegedunias

~



70819155621, NaBH,

= )
20819155622, W2~ NHa/CH50Na

Ni/H,
70819155623 2

sozn P+Cl,
70819155624, =

Question Number : 47 Question Id : 70819116820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

.\]UQ Br
- Ja-— e I
Br
Options :
Sn/HCI / KBr / Br, / H+
P— - o -
70819155625.
NaNO, / HCl / KBr / H+
s r o - r
70819155626.

°
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Sn/HCI / Br, /I\IaNDZ / NaBr
—_— = - -
70819155627,

Br,/Fe F/F"n’” 1L11-/ NaNO,/HCI F/CuBr,’HBr
70819155628.

Question Number : 47 Question Id : 70819116820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Sipcdone s m, Dm-BRarEecdontd’ S TORBSFIL IERENTT T FoIRTTBNY

) )

A00iRa JeRoIw :

\\JC}Q Br

Br

Options :

5n/HCI / KBr / Bry / H,
o - - -
70819155625.

NaNO, / HCl / KBr / H+
- - - -

Sn/HCl / Br, /NaNDz / NaBr
- - o -

70819155626.

70819155627.

°
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Bry/Fe ...,/ Em,fH(_lh/ NaNO,/HCI :--/ CuBr/HBr -
70819155628.

Question Number : 48 Question Id : 70819116821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :

Options :

70819155620, SWlphur

70819155630, otrength

70819155631, Styrene

70819155632, Sulphonation

Question Number : 48 Question Id : 70819116821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
V-5 WRRBTY ‘S LW :
Options :
s

-
il

70819155629. *

70819155630, *©

20eTF
70819155631,

°
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70819155632, T HRLNTTE

Question Number : 49 Question Id : 70819116822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I and List - 11.
List - 1 List - 11
i)  Antifertility drug
ii) Pernicious anaemia
i) Analgesic
iv) Tranquilizer

(a) Valium

(b)  Morphine

(c) Norethindrone
(d) Vitamin By,
Options :

70819155633, (@)-(1), (b)-(iii), (c)~(iv), (d)-(ii)

70819155634, (@)-(1v), (b)-(ii), (c)-(ii), (d)-(i)
70819155635, (@), (b)-(id), (c)-(1), (d)-(i1)

70819155636, @)-(1), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819116822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

°
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BRoDA wIod.
w3 - 1 e - 11
(a) =mOoho ) Podeoleegd (gougurdy) Bag
(b) TPLFT i) TBIFAODT TBLeII
(c) T 3oBRT* iii) @eesy) V=TT
(d) wW*B,, iv) SIDIRO (JZDT)
BYNTPNYY TOCcIRT LITHW, SoR[RAD.
Options :
20819155633, (@)-(D), (B)-(ii), ()(iv), (d)-(i)

20819155634, (@) (), (b)-(iti), (c)-(11), (d)-(i)
70819155635, (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

70819155636. (@)-(i), (b)-(iv), (c)-(iii), (d)-()

Question Number : 50 Question Id : 70819116823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

°
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Match List - I and List - IL
List - 1

0
|
(a) R -SR-—CHO

(b) R—CH,—COOH — R—-CH-COOH
I
Cl

)
Il
() R—C—NH,—R-NH,
o)
I
(d R-C-CHz—>R—CH,—CH,

List - 11

(i)  Br,/NaOH

(i) H,/Pd-BaSO,

(i) Zn(Hg)/Conc. HCl1

(iv) C,/Red P, H,0

Choose the correct answer from the options given below -

Options :
70819155637, (@)-(1i), (b)-(iv), (c)-(1), (d)-(ii)

70819155638, (@)-(ii), (b)-(1), (¢)-(iv), (d)-(i1)
70819155639, (@) (1), (B)-(1), (c)-(iv), (d)-(iii)

20819155640, @) (), (B)-(v), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819116823 Question Type : MCQ Option Shuffling : Yes Is Question Man

Correct Marks : 4 Wrong Marks : 1

°
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Z2ROHIAD.

;e -1 33 - 11
O
I
(a) R—C-Cl -R—CHO ()  Br,/NaOH

(b) R—CIIZ—CDDII—*R—{FH—CDGH (i) H,/Pd—-BaS0,

Cl
0
Il
() R—C—NH,—>R-NH, (ii) Zn(Hg)/mmoz HCl
O
| -
(d) R-C-CH; »>R-CH,—CH; (iv) /%o P, H,O

TR ReRT Eﬂ%ﬁ@@t ptelevering Em::‘a:dﬁ.&% &2020.
Options :
70819155637, (a)-(iit), (b)-(iv), (c)-(1), (d)-(ii)

70819155638, (@) (i1), (b)-(1), (c)-(iv), (d)-(ii)
70819155639, (@) (H), (b)-(1), (€)-(iv), (d)-(iii)
(a)-(i1), (b)-(iv), (c)-(1), (d)-(iii)

70819155640.

Chemistry Section B

°
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Section Id : 708191661

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191941
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116824 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of O, for
complete oxidation and pmduceq 4 times its own volume of CO, is C. H The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819116824 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C,H, 7rg TRoOWT ol Y0 [yBeeswrs 3§, A0S Egﬁ 6 O, SaRTT IBD

TWRF WZNFH BROD 3T, MEE 4GE Cco, DENERLTRD DEICR. TMOTS Y3 W0
Response Type : Numeric gcollegeduniag

Evaluation Required For SA : Yes ~



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116825 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116825 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50°C 3 740 mmHg w3BTY 475 MeT ©Agded wom) sm0HT ™R (Je. I
(FweTT TemoFosd) [Betdcdd : R=0.0826 L atm K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

°
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Question Number : 53 Question Id : 70819116826 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %1071, The value of x is . (Integer answer)

3HC = CH(E}: Cﬁ] IE'U}

[Given : A/G°(HC=CH)= —2.04x10° ] mol ! ; A.G*(CgHg)= —-1.24x10° J mol™ ! ;
R=8314 ] K~ mol~1] "

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 53 Question Id : 70819116826 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

W

SEIF FPSBoW oL, 25°CIY #9nT sobodg logK 3 SR xx10~ L x3 o
. (SRrRFOTE wU2T)
3HC = CH === C¢Hg

2 : AG (HC=CH)=—2.04x105] mol~!; A,G°(C¢Hg)= —1.24x10° ] mol ! ;
R=8314 JK~! mol~ 1| :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

°
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Question Number : 54 Question Id : 70819116827 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,, in 200 g of C H
freeze is "C. (The molal freezing point depression constant of C;H is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116827 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5.5°C &Y CeHy FRc30MMFHN. 200 g CHg IQ 10z CyH o7 To@mes) FacsoRa ST
°C. [CH & Swewnef PRCITR DO AT A0RIT00T) 5.12°C/m.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116828 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

°
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The solubility product of Pbl, is 8.0 10 ?. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ mol/L. The value of x is . (Rounded off to the nearest
integer)

|Given \E = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116828 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, 3 29ezz0 meedsy) 8.0x1077end. 01 Seens’ SaF JPHF m@eng o

wodred s ade3domn (dreer/de. 3Q) xx107° x8 PO . (Brmorosd
e 3T)

[63: V2=141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 56 Question Id : 70819116829 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

°
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The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
3 2303 RT
|:{_1'ivfrn - ¥ = []_[159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001
Question Number : 56 Question Id : 70819116829 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
MnOj /Mn’* oionid ev3mr maEFs Tosme xx1074V. HY modohd, 25°C3Y

1M203 1074 MA 29ad. (H* modoba, nroenadte MnOy =@ Mn™* & mddne
g0t 8Nzl 20 o) xS m—"a@é@ . (BRRFO3T YVS0)

[Cﬂ'é .

Response Type : Numeric

2303RT _ {]‘{]59]

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

°
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Question Number : 57 Question Id : 70819116830 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[?] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819116830 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C3Q s Tomeend AdeeT TEad $0I0ndr dokahmod 3.33 Folod wierobddeodn
APHS BROD HERET DB, PARCT TV, VEDJIW. IFOBNY T03T I WIRLTS

®o3gy) ‘f’ SN Iogm[?]a a’é‘a%@ x1072 (TE0T BrRmEor OF)

[In10=2303, In2=0.693 20T FHoDAO.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

°
gcollegedunlas
India’s largest Student Review Platform

~



Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116831 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism is

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116831 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
3YNT BT E;H%dﬂ&ﬁ@@__, m,.mﬁoér:&éoi‘mi 3RO Eﬁﬁ%&?&ﬁ@ Aoa3.00 :

= o
(A) o-AROT*

=

(B) B-ROT®
(C) S,roP(cRT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

°
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Question Number : 59 Question Id : 70819116832 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel
synthesis is

CH3z , .
(A) CHx CH—CH—NIH2 (B) CH,CH,NH,

CHy—NHj NH,
© ©/ D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116832 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

mROPT IFoIWOF LFITHOT FOIWOAWTITOW YN IRETOW ©BWYTI NG iR,

055,000
CH3 cH—CcHy,—NH
(A) CHs 2 2 (B) CH3CH2NH2
CHr—NH» NH»
© (D) ©/
Response Type : Numeric gcol Ieged unia:
Evaluation Required For SA : YeS India’s largest Student Review Platform
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116833 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durf_t'l%c:;
purification. Amount of acetanilide obtained after purification (in g) is - | et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116833 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

£y

TRDTN I[FHTT, TET VALRGFT TSR (MIFIY) 4 |

1.86 Moy @ dy® TReFmeN JFA SALRCE IRWII. vodong 3. 10T, Bh) 808

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

°
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Mathematics Section A

Section Id : 708191662
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191942
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819116834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = 5 is (20, b, —a—9), then |a+Db] is equal to :

|
o

Options :
70819155651, 84

70819155652, 56

70819155653, 58

70819155654, 20

Question Number : 61 Question Id : 70819116834 Question Type : MCQ Option Shuffling : Yes Is Question Man Q collegeduniag
COl'l'eCt Marks . 4 Wrong Marks M 1 India’s largest Student Review Platform
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. . T o . .

P(a, 6, 9) 0T TTFP TSRO LSWT TeL —(— = g ° N RoWoHATOS
K

(20,b, —a—9) a®. BQ a beR. SN |a+bl o BTE I :

Options :

70819155651, 54

70819155652, 56

70819155653, 58

70819155654. 20

Question Number : 62 Question Id : 70819116835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

(a, c), (2, b) and (a, b) be [1?{], %J If ., 3 are the roots of the equation ar2+bx+1=0, then

the value of a2+ B2—ap is :

Options :
69
70819155655, 220
71

70819155656, 226

Ay
ootssess, 0 P collegedunia
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7
70819155658. 256

Question Number : 62 Question Id : 70819116835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
a, b, cris0 A0 FePoR YD, (a,c), (2,b) B (a, b)TON VOWWNTOTT SENRT VO EEOT)

10 7 5 3 : : i . : : :
(— ’J. a DB B A ar’+br+1=0 ZWNeICHRT DRONTTT, &0 o +p2—af T

%" 5
2303030 -
Options :
69
70819155655, 220
i
70819155656, 220
69
70819155657, 220
i
70819155658, 220

Question Number : 63 Question Id : 70819116836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If P is a point on the parabola y=x2+4 which is closest to the straight line y=4x —1, then gcollegedunias
T_-I:‘I.E Cﬂ-ﬂrdﬁiates Df P a_rf__"' : India’s largest Student Review Platform
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Options :

(3, 13)
70819155659.

70819155660. (2 8)

70819155661.

70819155662. (1, 3)

Question Number : 63 Question Id : 70819116836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TCTOOD y=x3+4352“6-‘f5 Pmmsﬁmd [ BOYTeD y=4x—11 @3c2 E%ﬂ:ﬁg L'JE', &n ‘P
ROWAT AVEFTVOINED :
Options :

(3, 13)
70819155659.

70819155660. (2 8)

(—2, 8)
70819155661.

70819155662, 17 °)

Question Number : 64 Question Id : 70819116837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegedunias
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For which of the following curves, the line x ﬁy — 23 is the tangent at the point

< |
LT N
2 " 9]!
Options :
L3
70819155663, ~ TV =7
x2 + 9y2= 9
70819155664
v 1 x
=%
70819155665. V3
2y — 18y2= 0
70819155666.

Question Number : 64 Question Id : 70819116837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L5 ) P
5 5 | BomhaTY oSy

B FUNT TEBeBRYY, x+ By = 243 Seadomw, =

Eﬁrﬁmﬁﬁ 9

Options :

2+ yz =7
70819155663.

2 y?_: 9
70819155664.

°
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1
2_ —x
Yy =_.5"
70819155665. V3

2x2 — lﬁyz =0
70819155666.

Question Number : 65 Question Id : 70819116838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3
The value of the integral, j[:r2 2x —2|dx, where [x] denotes the greatest integer less than
1
or equal to x, is :

Options :

70819155667, >

70819155668, — 4
70819155669. V2 -3 -1
70819155670. V2 -3 41

Question Number : 65 Question Id : 70819116838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

[[x* —2x—21dx 8 eadBoRE Bdabed ? BQ ] ZRBDIT N0F Temerodnw = x :

1

Options :
eiotssce B M collegedunia

~



-4

70819155668.
g
70819155669. J: "E ;
2 3 +1
70819155670. J_ \/_

Question Number : 66 Question Id : 70819116839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819155671, ~ P 71

70819155672, ~ F "

70819155673, © 1

70819155674, P/~ 4

Question Number : 66 Question Id : 70819116839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

~pA(pvq) B Tepdod IhexT=y
Options :

= p W q o
70819155671. Qcollegedunlaé

~



- A
70819155672. P~q

P
70819155673. ke

70819155674, P/~ 4

Question Number : 67 Question Id : 70819116840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations 1[:;5';215'5’1 B2A?) X=0, where X is a 3x 1 column
matrix of unknnwn variables and O is a 3 X1 null matrix, has :

Options :

70819155675, 1o solution

70819155676, 2 unique solution

70819155677, ©xactly two solutions

70819155678. infinitely many solutions

Question Number : 67 Question Id : 70819116840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AR Brish 3x 303D TOT,00TTRTT, ACID TIROT ACTRONT I Boiw wAmmon
zo2m, r.:ﬁca* (AZB%- ~A7—]K fo)=" SZFodoy, BTV ZOeETRROR aqo&mmﬁo&a ag X
T8I BIS0DNY FOWTI EGJ@E a.a ‘0'F 3x13RT, FOL/ODS :

Options : gcollegedunias
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70819155675.
70819155676. ©

70819155677

70819155678.

SHOTWON TOY) TOTHTN

Question Number : 68 Question Id : 70819116841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f(2—x) for all

x € (0,2), f(0)=1 and f(2) =e”. Then the value of jf{x} dxis :
L]

Options :

70819155679.

70819155680.

70819155681.

70819155682.

7
—e-

(=

1+e2
2(1 +¢2)

2(1 - e2)

Question Number : 68 Question Id : 70819116841 Question Type : MCQ Option Shuffling : Yes Is Question Man-~*~= - N~
Correct Marks : 4 Wrong Marks : 1

°
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-,
il
“*

2.0 OTIOF QIT, f(x) W, [0, 2] HeS TRATTNG. f(x)=f'2—1) ¥x < (0,2), f(0)=1
DB f2)=2TNGY [ () dx 300 BS0m :
0

Options :
70819155679, 1~ €

2
70819155680, 1 T €

2
70819155681, 21 +¢€%)

R
70819155682, =1 )

Question Number : 69 Question Id : 70819116842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

|f@  f

fi(x) 20forallx e R. If |, = (0, for all x £ R, then the value of f(1) lies in the
' fo f@ '

interval :
Options :

©, 3)
70819155683.

70819155684. G

69

- P collegedunia

~

70819155685

70819155686



Question Number : 69 Question Id : 70819116842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

froowm R@med mIOVIALET 20BAO A NG, NGQ f0)=1, f(0)=2 DB
3 3 g I} Spiags b i G
fFDx0vxe R ;i } ;r”f ;; =0,¥xeR, 800 f(I)s LS00 OR® @O3Te¥TYL
X X :
(interval) 9
Options :
0,3
70819155683. &2
".‘;
70819155684. (3 6)
70819155685, (& )
9, 12
70819155686. ( )

Question Number : 70 Question Id : 70819116843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bxr+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :
70819155687. @=1, b=1,¢c=0

70819155688, a=1 b=0, c=1

gl Ty e collegedunias
70819155689. a 1r b 1r C l glndia'slargest%dentReviewPiatform
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b | =
=n
[
b3 | =
]
[
-

70819155690.

Question Number : 70 Question Id : 70819116843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=ax?+bx+c,x € RFFFedomn (1, 2) WOMAT THROT TIBRTRIT =B FJFdesdom
WHOEON TRVNOTNAITY y=1x, STT N a, b, cNON TF TS WOND

Options :

70819155687, @=1, b=1,c=0

a=1, b=0, c=1

70819155688.
70819155689, 2= 1 b=1,¢c=1
1 1
a= —, b e 1
70819155690. 2 2

Question Number : 71 Question Id : 70819116844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If n=2is a positive integer, then the sum of the series
‘a4l 2 ; 4 .
e, +2(2C,+ 1y + 10, +u+ UGy is:

Options :
n(n—1)(2n+1)

Ej .
70819155691, gcollegedumas

~




n(n + 1) (2n + 1)

70819155692 6

.11(211 +1)(3n +1)
70819155693 6

n(n 1)2{11 + 2)
70819155694 12

Question Number : 71 Question Id : 70819116844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

n>22.0m FFs Temeros 83, "C,+2(’C,+ %G, + T+ 4 7C,) Berdon
B35 :

Options :
n(n—1)(2n+1)

70819155691. 6

.n{n +1) (2n + 1)
6

70819155692.

.11(211 +1)(3n +1)
b

70819155693.

.n{n I 1)2{11 + 2)
12

70819155694
gcollegedunlaé

~




Question Number : 72 Question Id : 70819116845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+hkz=—-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?
Options :

70819155695, *) and (D) only

70819155696, “4) and (E) only

70819155697, &) and (D) only

70819155698, (0) and (E) only

Question Number : 72 Question Id : 70819116845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

°
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TFR 3 A0 Seago Henegdanyod :

x—2y=1, x—y+kz=-2, ky+4z=6, ke R,
39NT BePINY, Ton<men ¢

(A) k2D kz —28TT a‘ua“:u;‘ 2ETF TOTT.
(B) k=-2e038, 55:%' 2EF JOTRT.

(C) k=2sT0, JIIZN 2T i@a::_‘ti
( o0 9
(

¥

'L

L

{lﬂ

&
D) k=2&08, am' cafs)
E) kz—2e08, aam%n Ehoafe At ﬁ gacm TOTAONELL.
n IPNIPYNYY olem Jewdnse O 9

Options :

A) @3 (D) =2

70819155695. et S

(A) D2 (B) 30
70819155696. =

70819155697. © m'@"i Dis=s

3 (E) ™23
70819155698. e s

Question Number : 73 Question Id : 70819116846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

°
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Let f:R — R be defined as

55x, ifx< -5
f(x) = {2x3— 322 120z, if ~5< x<4
2x°- 3x*- 36x — 336,  if x >4,
Let A = {x = R : fis increasing}. Then A is equal to :

Options :

70819155699, (~ %+ —5) U (4, =)

70819155700, (3, —4) v (4, =)

70819155701, (— ®r —9) v (—4, =)

70819155702 (2 =)

Question Number : 73 Question Id : 70819116846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fiR— R &, §9NT03 AT :

55x, x<-5:0838
f(x) = {223~ 322 120z, 5< x <4833
2x3— 322 36x — 336, x > 4, =58

A=f{re R:f00% 03d)20wmend. on A} A :
Options :
U (4, =)

70819155699, (~ %+ —3)
gcollegedunias
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70819155700, (—3 —4) U (4, =)

70819155701, (~ ®- —3) W (—4, =)

70819155702, (2 *)

Question Number : 74 Question Id : 70819116847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A possible value of tan(—qm_l }
4

Options :

1

o =
70819155703, V4

1

7.2
70819155704, =~
70819155705. ﬁ :

70819155706, 2¥2 — 1

Question Number : 74 Question Id : 70819116847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 63 . o R
tan{—sf_n IT] BT, WF3 |HD BSo : gcollegedunias
'—1 i-- India’s largest Student Review Platforn\:
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Options :

1

70819155703. JF—

1

242

70819155704. '\E
70819155705. \E .

70819155706, 2¥2 — 1

Question Number : 75 Question Id : 70819116848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 60°. After a flight of

20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :
70819155707, 36003 m
70819155708, 240033 m

! 3
70819155709, LoUUVS m

Ly
70819155710, 1200V 3 m

~

°
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Question Number : 75 Question Id : 70819116848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SoT Hed ARoAR0T HF QWRIT HI0T Beesmy 60°. nowdA 4328.00e. FennQ
20 Z¥omone FTooowT TOIT, 2ITT B 30°R WICIRIT.  ITRIPY 4T 2ITEY
TG0 WTT 23T :

Options :

70819155707, 36003 m

70819155708, 24003 m

. 3
70819155709, VNS m

.
70819155710, 120043 m

Question Number : 76 Question Id : 70819116849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; + } + ,IE] =1 and ;(; _2}] = — 2, and the point (1, 0, 2) is :

Options :

r\3i+7]+3k)=7
70819155711

?1}|?}|3k]=?
70819155712.

°
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7
70819155713, o

._t
Ty
|
LS
%)
ol
[l

7
70819155714 3

Question Number : 76 Question Id : 70819116849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2,00 2O (1,0,2) B, 8 Pems IIONY 1 E gt A} =1=3 r-(_}' — 2;’ =—2

3
£l
l:l.
£l
(el
¢
&l

ROT TothTIreus 03 Janesoeen

Options :

r\3i+7]+3k)=7
70819155711.

rl}|?}|3k}=?
70819155712.

r (_I F’;i' | 'Hc_}=i
70819155713. 3

rli+7j+3k)=21
70819155714 3

Question Number : 77 Question Id : 70819116850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegeduniaé
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For the statements p and g, consider the following compound statements :
(@ (~gqr(p—q)—=-~p
(b) (pvgr~p)—q

Then which of the following statements is correct ?
Options :
70819155715 (a) is a tautology but not (b).

70819155716 (b) is a tautology but not (a).

70819155717, (a) and (b) both are tautologies.

70819155718, (@ and (b) both are not tautologies.

Question Number : 77 Question Id : 70819116850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
p R qIevdnen, ;8 FENI HOCINT ﬁe@ﬁﬁ@&a Tonedamen,
(@ (qr(p—q)—-~p
(b) ((pvqg)r~p)—qen
; IYNT TePINYY IRPYT O [T ?
Options :
(a) o tmEPOR =TS (b) B
70819155715. e

(b) oI RO =G0 (a) B.
70819155716. e

S : ) - ,‘?’ - _‘.
70819155717, (a) 302 (b) T ERETDOBND
gcollegedunlas
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70819155718.

(a) =031

Question Number : 78 Question Id : 70819116851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve y=f(x) passes through the point (1, 2) and satisfies ld— by = bx*, then for

2
what value of b, jf{x]dx
1

Options :

70819155719.

70819155720.

70819155721.

70819155722.

10

i
5

Question Number : 78 Question Id : 70819116851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=f(x) IFoess0dn .00 wotd (1,2)T ww

2
32TALGS, b oles BdA, |f(R)dx

1

R i .
PeThEB DB x—L + y = bx U,
- =L d - -,

°
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Options :

70819155719.

70819155720.

70819155721.

70819155722.

Question Number : 79 Question Id : 70819116852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :

70819155723.

70819155724.

70819155725.

70819155726.

65

-

2:’

65

23

135

2

35
%

°
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Question Number : 79 Question Id : 70819116852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FeTIRY DDTTON HTHE TN TROWH 2,00 7D {1, 2,3, 4, 5} H0T HTE wuEnesndad,
c@m&ﬁﬂﬁmﬁ teoi:;:ﬁm:j DopTnoh3odn :
Options :
65

70819155723, 2

65

28
70819155724,

135

%
70819155725.

E
70819155726, 2

Question Number : 80 Question Id : 70819116853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the region : R = {(x, y) : 522 = y = 222+ 9} is :
Options :

3 ¢ its
70819155727, ©v3 Square units

10819155728, 9V3 square units

70819155720, 11¥3 square units

°
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12 square units
70819155730. l'ﬁ a

Question Number : 80 Question Id : 70819116853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R={(x y):50 = y < 2°+9} 3 Tpesd Feggomy :

L

Options :

63 B3T0 QBB
70810155727, 6V3 B0C 7

: e ‘.'"‘l.-.-_.‘""x
70819155728, V3 HWO LTEREND

114/3 BT LISToSNEL
70819155729, V3

70819155730. 124/3 B¥TT LHTIRTNR

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

708191663
6

Online
Mandatory
10

5

20

Yes

1
708191943

°
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819116854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819116854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 mgeas moLdne 1,1 1, .., 1, k S®mwe 10§03 3RDINRTT 1oy WZIRT k3
ol N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116855 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4r? is equal to

°
gcollegedunlas
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116855 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P ot oW (5, 0) WomDARCT (-5, 0) RoAT ©oITH) el Ty T
PR0omas Rom TP &, 7T JTHTT, 4r? AT,

=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116856 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)>+ (y— 3)2=25 at the point (5, 7) is A, then 24 A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

°
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Question Number : 83 Question Id : 70819116856 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FT0ZE r-w300T JRTHARLOR SRRET Qacer ©ow MR FIE IBFE (x—2)°+(y—3)*=25
(5. 7) LC}C.‘L RO eh A, en 24A N ABRTDTNTIT

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116857 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

21 21
1+ i3 1+ i3
Let i= V-1, If{ 2] | (- El

4 . = k,and n=[|k|] be the greatest integral part
(1- i) (1+ i)

of |k|. Then Z’(; I5 Zn{; t5) isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116857 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(-1+ iA)

24

(1— i) (1+ i)

2 ; W2
b i)
.

= k, @& n=[|k|]] oI [k| 3 noxy wogms,

24

.n*5

n+5
SOMoNT. &0, Z(_;‘ - 5)% Z(_;‘ +5) &)
=0 =0

=l
21
71

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 85 Question Id : 70819116858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 54, S,, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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a’a’i WWBPFNW 5,,5,,.... 5, wt A, Bmﬁ Caoa& RTY MozTRNYoh Londged, STs

Té moasg ﬁm.ﬁ 22, QHE‘{[JF 13. Cn,o rim"é 33‘3@@:—‘:’1’@@1 HRoODT. =n =03z
mom:% TuSAE 243 mr;:._,_ar-'.v; Nou:s_,_m

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116859 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ny |7C,, fn=r=0
For integers n and r, let i :
I 0, oltherwise

The maximum value of k for which the sum

&(10)( 15 ) K2 12)( 13
; i Nk ’.+;'=Z{} i k41— ;) exists, is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116859 Question Type : SA .
Correct Marks : 4 Wrong Marks : 0 Eol”et%eglll:lﬁa
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. IRPREATAT | W e i
BemF o8 DR i J= : "

k(100 15 +*"1 12 13
-\.—'F.‘ 1 ya E '-x_"lt d 1 :r‘. et e fat S et - -
; i ; i N k1) 02 oY, ks nogy oo DTONT.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116860 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 ﬁf[iJ = bhx 4 E x # 0, then the value of the expression
X

X
fx) 4 IGJ |
15 :

X —
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001
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Question Number : 87 Question Id : 70819116860 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' 1
fo+1(2)
X/ & wiﬁ

a+a=1 b+p=2 m&; af (x) + u'_,f'[l] = bx+ E,x + 0 =33,
x . X Il
X

woodd _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116861 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x — A= Zy— 1=-—2z and

x=y+2h=z—NAis —f—,thenthevalue of [A]is y
24/2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 88 Question Id : 70819116861 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0
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The sum of first four terms of a geometric progression (G.FP.) is 12 and the sum of their

respective reciprocals is —. If the product of first three terms of the G.P. is 1, and the third
term is o, then 2« is
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